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EHE FEOARD 1
(a+b)? =a® +2ab +b?
3 e e B v
@ @+3)? @ (a-5)7
=22 +6x+9 =a?-10a+25
® @+7)? @ -6y
=x2 +14x+49 =2 -12y+36
® (a+3)* ® (x-97
=a?+6a+9 =22 —18x+81
@ (a+3b)? @x-y)?
=a? +6ab + 9b° =4x? — 4y +y?
© (3z-5)° (5a +3b)*
=927 —-30x+25 =25a° + 30ab + 9b°
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3 o R B
@ @+2) @ (a-6)*
=2 +4x+4 =a®-12a+36
@ @+8) @ (x-1)7
=b?+16a+64 =22 -2x+1
® (m+4y* ® (x-7)*
=m? +8m+16 =a —14x+49
@ (x—5y)* (3a-b)*
=2 — 10xy + 25y =9a° — 6ab +b?
@ (-t+5) (dx—3y)*
=t2—10t+25 = 162% —24xy + 9y°
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(a+b)? =a® +2ab +b?

3 e E - KA
@ (@+4)* @ (@a-6y°
=22 +8x+16 =a?-12a+36
® @+9) @ w-7y7
=22 +18x+81 =y% 14y +49
® (a+1y7 ® (-8
=a?+2a+1 =22 -16x+64
@ (a+5b)? (bx-y)?
=a? + 10ab +25b° =252 — 10xy +1/?
© (3z-4)° (4a +3b)*
=922 —24x+16 = 164% +24ab + 9b*
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@D (@x+9)* @ (@-2y7°
=2 +18x+81 =a?-4a+4
® w+1y @ (x-5)°
=2 +2y+1 =22 - 10x+25
® (@+7)y ® (m-3)y*
=a? +14a+49 =m? -6m+9
@ (a-3bY? (6x-2y)*?
=a? —6ab + 9b® =26x% - 20xy + 4y
@ (x+3)7* @x—7y)*
=22 —62+9 =4x% —28xy + 49)°
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